S l G MA Spur Gear Specifications

Focus Ring Iris Ring
AIZU PRlME 35mm T] 3 LF Number of teeth 128 124
Module 0.8 0.8
PL Mount
P.C.D 102.4mm 99.2mm
Angular rotation 270° 70°

435

128.6 17
SF-61 8.1, 66.5

2x[M3x8] \\ 54, 30.3

-« == ‘
— L E,L
— o1
— 6,1

o 8,1 §
]
/.1 —_— -
— FRONT
DIAMETER
g, 95 mm I
AIZU — |
PRIME : 46.3mm 1
5,1 =
— | fit T

oY

1
!
|
il
|
i
|

Ly, = | 30 o
Tﬂog = ﬂsﬂg 2 | SE
== | 10" .8 H
— .1 & 43 |
SIGMA €' 63 E
N— 5”2 i
4'6 = 85 *
g _z.1 i 113
3'6 = neE
g B
SF-61
_ —
2x[M3x8] 1/4 3/8
UNC 1/4-20 ~/
e L |
UNC 3/8-16 L 142 80.4
T T
29 72.6 /mm
scale 1:1

Ver11 July 2025 ©2025 Sigma Corporation



S l G MA Spur Gear Specifications

Focus Ring Iris Ring
Number of teeth 128 124
AlZU PRIME 35mm T1.3 LF
S E t Module 0.8 0.8
on -mMoun
y P.C.D 102.4mm 99.2mm
Angular rotation 270° 70°
162.6 5.2
8.1 100.5
SF-61 54, , 64.3 k/\/&{m
2x[M3x8] *\ \\ ! /
/
b *i‘;za | .
F o ;]
- &,1 35
° [ o1 ) oy AIME mfn ",
il = 1
DIAMETER
AlZU — IMAGE
PRIME = 43.26mm L
= |/
= | ft T ! \|/
o)
§ o S
< Ly, (= |30° M
T1.3 = HS"E 2 n o
= | 10" 8 ' |\ A "
Y—d 8'= pu S e 52
A 4 =]
SIGMA = 6’5 463 [
= |4 ] 83 i
o | 21 4 13 \ 8
‘ 3'6 — eé /
| v
2x[M3x8] 1 ua 3/8 s, / \
/ ! :
UNC 1/4-20 — 300 / \
UNC3/8'16_/i 14.2 i 114.4 w
29 106.6 /mm
scale 1:1

Ver11 July 2025 ©2025 Sigma Corporation



